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# include <stdio.h>

# include <conio.h>

main()

{

int a,b,c, s,av;

printf("\n Enter three no. ");

scanf("%d %d %d",&a, &b, &c);

s=(a+b+c);

av=s/3;

printf("\n The Sum of three no. is %d",s);
printf("\n The Average of three no. is %d",av);
getch();

}

T FATA:

Enter threeno 56 7

The Sum of three no is 18
The Average of three no is 6

ERN-]

fagres o Jie At wiafe gfv 8 oot (A3 wiitg ©F cFawe ey F919 oy 7 o
@35 TR &Y |

#include <stdio.h>

#include<conio.h>

main( )

{

int a,b;

float area;

printf ("\n Enter the value of a ");



scanf ("%d",&a);

printf ("\n Enter the value of b ");
scanf ("%d",&b);

area=0.5*(a*b);

printf ("\n The area is %.2f",area);
getch ();

}

AT T
Enter the valueofa s

Enter the value of b 6
The area is 15.00

TAR-9

fargre foqb g Aftsr= ot it oiF cvawst ey w11 oy B o «3fb i @
#include <stdio.h>

#include <conio.h>

#include <math.h>

main( )

{

int a,b,c;

float s,area;

printf("\n Enter three numbers ");
scanf("%d %d %d", &a, &b, &c);
s=(a+b+c)/2;
area=sqrt(s*(s-a)*(s-b)*(s-c));
printf("\n the area is %.2f",area);
getch( );

}

AN FEATA:
Enter three numbers 5 6 7
The area is 14.70

-8
08T (FaFe o T & B orar @i s 7Y |
#include <stdio.h>



#include <conio.h>

main( )

{

intr;

float pi, area;

printf("\n Enter the value of r ");
scanf("%d",&r);

pi=3.1416;

area = pi*(r¥*r);

printf("\n The area is %.2f",area);
getch ();

}

AT T
Enter the value of r 5
The area is 78.54

R-¢
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#include <stdio.h>

#include <conio.h>

main( )

{

int fh;

float cl;

printf ("\n Enter the value of fh ");

scanf ("%d", &fh);

cl = (fh-32)/1.8;

printf ("\n The converted Celsius temperature %.2f", cl);
getch ();

}

T T
Enter the value of fh 50
The converted Celsius temperature 10.00

T2RN-y
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#include<stdio.h>
#include<conio.h>

main( )

{

int cl;

float fh;

printf ("\n Enter the value of cl ");
scanf ("%d", &cl);

fh = (c1*1.8)+32;

printf ("\n The converted Fahrenheit Temperature %.2f",fh);
getch ();

}

YA A
Enter the value of cl 10
The converted Fahrenheit temperature 50.00

TEN-9
Q6 TRYT (&e 7 [ree of fFefy Fai7 ey 7 o 936 e @2 |
#include<stdio.h>
#include<conio.h>
main()
{
int n,rem;
printf("\n Enter the value of n ");
scanf("%d", &n);
rem=n % 2;
if (rem==0)
{

printf("\n%d is a Even Number",n);

}

else

{
printf("\n %d is a Odd Number",n);

h
getch();

}



N et
Enter the valueof n 5
5 is a Odd Number
AR -
&% a1y Tre @ Wi e 7319 oy o oriw w3t @9
#include<stdio.h>
#include<conio.h>
main()
{
int a,b,c;
printf("\n Enter three numbers ");
scanf("%d %d %d",&a, &b, &c);
if ((a>b) && (a>¢))
{
printf("\n The Largest no is %d",a);

bs
else if ((b>a) && (b>c¢))

{
printf("\n The Largest no is %d",b);

}

else

{
printf("\n The Largest no is %d",c);

bs
getch();

}

AT FEATF:
Enter three numbers 5 6 7
The Largest no is 7

THRIT-5
S5 7T 4y 20e TRB FAIG 7 T390 &y 7 oiEw 3wy @)
#include<stdio.h>

#include<conio.h>

main()

{

int a,b,c;



printf("\n Enter three numbers ");
scanf("%d %d %d",&a, &b, &c);

if ((a<b) && (a<c))

{

printf("\n The Smallest no is %d",a);

bs
else if ((b<a) && (b<c))

{
printf("\n The Smallest no is %d",b);

}

else

{
printf("\n The Smallest no is %d",c);

be
getch();

}

AT T
Enter three numbers 56 7
The Smallest nois 5

|N-s0
1+24+3+......+ n fFfacew @rws ffa sam o for --- loop 35727 33 ft oy
@36 TR &Y |
#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
for (c=1;c<=n;c=c+1)
{
$=s+C;

be
printf("\n The Sum of the Series is %d ",s);



getch();
bs

AT T
Enter the valueofn 5
The Sum of the Series is 15

TARN-53
2+4+6+......+ n Fifacem @ [fy w97 o for --- loop I3z st & s
@ TR 7Y |
#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
for (c=2;c<=n;c=c+2)
{
S=S+C;
bs
printf("\n The Sum of the Series is %d ",s);
getch();

}

AT FEATF:
Enter the valueofn 5
The Sum of the Series is 6

THATT-3

14+3+5+......+ n Ffacem @ws Ry sar o for --- loop 35:%7 37 B o
@36 TR @Y |

#include<stdio.h>

#include<conio.h>

main()

{



intc, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=0;

for (c=1;c<=n;c=c+2)

{

S=S+C;

bs

printf("\n The Sum of the Series is %d ",s);
getch();

}

AT T
Enter the valueofn 5
The Sum of the Series is 9

TAHI->9
124+224+3%+......+ n? Bifwem aries g sa@ &= for --- loop T2 36 B
O G0 TR @7 |

#include<stdio.h>
#include<conio.h>

main()

{

int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=0;

for (c=1;c<=n;c=c+1)

{

s=s+(c*c);

}

printf("\n The Sum of the Series is %d ",s);
getch();

}

YA T
Enter the valueofn 5



The Sum of the Series is 55

THIT-58
124+32+52......+ n? Biftwes ares At sam ey for --- loop ez w6
ST @30 AT @7 |

#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
for (c=1;c<=n;c=c+2)
{
s=s+(c*c);
bs
printf("\n The Sum of the Series is %d ",s);
getch();

}

AT T
Enter the valueofn 5
The Sum of the Series is 35

TART-3¢
224+4%+62......+ n? Bt @rres fRda sam wr for --- loop 3@ 3@ &
ST @30 AR @7 |

#include<stdio.h>
#include<conio.h>

main()

{

int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=0;

for (c=2;c<=n;c=c+2)



{

s=s+(c*c),

¥

printf("\n The Sum of the Series is %d ",s);
getch();

}

AT T
Enter the valueofn 5
The Sum of the Series is 20

(SR IDENC
1+2+3+...... + n Fifates @rws Ffr saa e do---while loop s 3@ i
ORI Q3 TR @74 |

#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
do
{
s=s+C;
c=c+1;
Ywhile(c<=n);
printf("\n The Sum of the Series is %d ",s);
getch();

}

AT T
Enter the valueof n 5
The Sum of the Series is 15

10
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#include<stdio.h>
#include<conio.h>
main()
{
intc, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=2;
do
{
S=S+C;
c=c+2;

Ywhile(c<=n);

printf("\n The Sum of the Series is %d ",s);
getch();

}

AT T
Enter the valueofn 5
The Sum of the Series is 6

H|IT-3b
1+3+5+...... + n ffatem @ries g 2 o do---while loop Jzw @@ &
O 90 TR @7 |

#include<stdio.h>
#include<conio.h>
main()

{

11



intc, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
do
{
S=S+C;
c=c+2;

Ywhile(c<=n);

printf("\n The Sum of the Series is %d ",s);
getch();

}

AT T
Enter the valueofn 5
The Sum of the Series is 9

THRN-5»
124224 3%+......+ n? ffites @ g sa@ w5 do---while loop 3=
3R B o @ TR =T |

#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
do
{
s=s+(c*c);
c=c+1;

12



Ywhile(c<=n);

printf("\n The Sum of the Series is %d ",s);
getch();

h
TR FE:

Enter the valueofn 5
The Sum of the Series is 55

TH|N-0
12432+ 52......4+ n? fifteem aries Afr s sy do---while loop s7z7 3@
7 T @ i @ |

#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
do
{
s=s+(c*c);
c=c+2;

Ywhile(c<=n);
printf("\n The Sum of the Series is %d ",s);
getch();

}

WW:
Enter the valueofn 5
The Sum of the Series is 35

(S LI ER
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224+4%+62......+ n? B artes fr s e do---while loop 377 @
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#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=2;
do
{
s=s+(c*c);
c=c+2;
Ywhile(c<=n);
printf("\n The Sum of the Series is %d ",s);
getch();

}

AT T
Enter the valueofn 5
The Sum of the Series is 20

RIN-3

14+2+3+......+ n Fifites vz g o ww while loop <= st & e
@30 TR &7 |

#include<stdio.h>

#include<conio.h>

main()

{

int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=0;

c=1;

14



while(c<=n)
{
s=s+c;
c=c+1];
h
printf("\n The Sum of the Series is %d ",s);
getch();

b
TR FE:

Enter the valueofn 5
The Sum of the Series is 15

RIT-0
2+4+6+......+ n Fifaces @rra fFfa w7 s while loop 35317 36 1 s
@36 TR &Y |
#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=2;
while(c<=n)
{
$=s+C;
c=c+2;
}
printf("\n The Sum of the Series is %d ",s);
getch();

}

YA T
Enter the valueofn 5
The Sum of the Series is 6

15
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#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
while(c<=n)
{
S=s+C;
c=c+2;
bs
printf("\n The Sum of the Series is %d ",s);
getch();

}

AT TN
Enter the valueofn 5
The Sum of the Series is 9

TART-:¢
124224 3%+......+ n? fifites aries ffr sa@ w5 while loop 3327 @ it
ST @30 AR @7 |

#include<stdio.h>
#include<conio.h>

main()

{

int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=0;

c=1;

16



while(c<=n)
{
s=s+(c*c);
c=c+1];
}
printf("\n The Sum of the Series is %d ",s);
getch();

}

AT T
Enter the valueofn 5
The Sum of the Series is 55

THRAN-v
12432+ 52.....+ n? Fifttem @rres Rfg sam ey while loop < v B e
@36 TR &Y |
#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
while(c<=n)
{
s=s+(c*c);
c=c+2;
}
printf("\n The Sum of the Series is %d ",s);
getch();

}

YA T
Enter the valueofn 5

17



The Sum of the Series is 35

TRIT-:4
22+42+6>......+ n? Biftees @ At sam ey while loop 3727 36 B s
@35 TR &Y |
#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=2;
while(c<=n)
{
s=s+(c*c);
c=c+2;
bs
printf("\n The Sum of the Series is %d ",s);
getch();

}

AT T
Enter the valueofn 5
The Sum of the Series is 20

HRT-p
14+2+3+......+ n Ffiees @rws {fy sam e if --- goto 317 36 it eram
@35 TR &Y |
#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);

18



s=0;
c=1,;
level:
sS=s+C;
c=c+1;
if (c<=n) goto level;
printf("\n The Sum of the Series is %d ",s);
getch();

bs
AT TEAF:

Enter the valueofn 5
The Sum of the Series is 15
THRT-?S

2+4+6+......+ n Fifacem @ Jfy w97 o if --- goto 3=zw 6 i ey
GG TR =74 |

#include<stdio.h>

#include<conio.h>

main()

{

int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=0;

c=2;

level:

S=S+C;
c=c+2;

if (c<=n) goto level;

printf("\n The Sum of the Series is %d ",s);
getch();

}

AT T
Enter the valueof n 5
The Sum of the Series is 6

ERN-9o
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1+3+5+......+ n Fifites vz ey samww if --- goto 3=zw v 7 oy

@ TR 7Y |
#include<stdio.h>
#include<conio.h>
main()
{
intc, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
level:
S=s+C;
c=Cc+2;
if (c<=n) goto level;
printf("\n The Sum of the Series is %d ",s);
getch();

}

AT T
Enter the valueofn 5
The Sum of the Series is 9

TARTT-93
3B =f sy Factorial @y o & B o i i @
#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=1;
for (c=1;c<=n;c=c+1)
{
s=s*¢;

h

20



printf("\n The Factorial is %d", s);
getch();

}

AT FEAFE:

Enter the valueofn 5

The The Factorialis 120
A9

35 = srerw Factorial 4w ss@ w7 while loop 37z 3@ i e @3
AN 1Y |

#include<stdio.h>
#include<conio.h>

main()

{

int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=1;

c=1;

while(c<=n)

{

s=s*c;
c=c+1;

}

printf("\n The Factorial is %d ",s);
getch();

}

YA et
Enter the valueofn 5
The Factorial is 120
AR T-99
«zf5 = srerw Factorial 7w s w7 do---while loop 3577 e &7 s
@35 TR &Y |
#include<stdio.h>
#include<conio.h>
main()

21



{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=1;
c=1;
do
{
s=s*c;
c=c+1]1;

Ywhile(c<=n);
printf("\n The Factorial is %d ",s);
getch();

bs
YA FeIpeT:

Enter the valueofn 5

The Factorial is 120
Tq-98

35 7if s Factorial fefx ssm e if --- goto 3577 3= o «3fb e
Y|

#include<stdio.h>
#include<conio.h>

main()

{

int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=1;

c=1;

level:

s=s*c;
c=c+1];

if (c<=n) goto level;

printf("\n The Factorial is %d ",s);
getch();

}

22



T T

Enter the valueofn 5
The Factorial is 120

s-9¢
@3 e Leap Year &t st iy a@ oy 7 oraiw @it @9
#include<stdio.h>
#include<conio.h>
main()
{
inty;
printf("\n Enter a year ");
scanf("%d", &y);
if((y%400==0) | | ((y%4==0)&&(y%100!=0)))
{

}

else

{

bs
getch();

}

Y FeIpeT:
Enter a year 2010
2010 is not leap year

printf("\n %d is a leap year",y);

printf("\n %d is not leap year ",y);

TR0y
7o 7 .97, @, (GCD) e +317 &=y 7 Sy @36t @& e |
#include<stdio.h>
#include <conio.h>
main()
{
intL, S, R;
printf("\n Enter two numbers ");

23



scanf("%d %d",&L,&S);
while(L%S!=0)
{
R=L%S;
L=S;
S=R;
T
printf("\n The GCD of Two numbers %od",S);
getch();

}

AT T
Enter two numbers 75 50
The GCD of two numbers 25

TRIN-09
7% WL7F 7.4, ¢, (LCM) fefy wai9 & 7 oieiw @3t @2 |
#include<stdio.h>
#include <conio.h>
main()
{
inta, b, x;
printf("\nEnter the first integer number:");
scanf("%d", &a);
printf(" \nEnter the second integer number:");
scanf("%d", &b);
if(a>b)

x=b;

h

level:
iIf((x%a==0)&&(x%b==0))
{

24



printf("LCM is %d \n", x);
}

else

{
xX=x+1;
goto level;

¥
getch();

h
AT T

Enter the first integer number: 16

Enter the second integer number: 4
LCMis: 16

T I-9b
1 REF 5B +F® &% 99 oo @I i @Y |
#include<stdio.h>
#include<conio.h>
main()
{
int c;
for (c=1;c<=5;c=c+1)
{
printf("\n %d",c);
}
getch();

by
YA e

NhWNEH

25
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10, 20, 30......... ,100 *® f&% <919 & if.....goto T[T I I @RIT @Y |
#include<stdio.h>
#include<conio.h>
main()

{

intc;

c=10;

level:

printf("\n %d",c);
c=c+10;

if (c<=100) goto level;
getch();

>

YA FEApeT:
10
20
30
40
50
60
70
80
90
100
q|¥-80
90+80+70......+ n Fifites @rres fafr sa ey if.....goto 35z« 1 f e
@36 TR &Y |
#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");

26



scanf("%d", &n);
s=0;
c=90;
level:
S=S+C;
c=c-10;
if (c>=n) goto level;
printf("\n The Sum of the Series is %d ",s);
getch();

h
TR FE:

Enter the valueof n 10
The Sum of the Series is 450

-8
90%+80%+70>......+ n? fifwem arres fr samwr if.....goto T @ &
ST G0 TR @
#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=90;
level:
s=s+(c*c);
c=c-10;
if (c>=n) goto level;
printf("\n The Sum of the Series is %d ",s);
getch();

h
BRCIREINGE

Enter the valueof n 10

27



The Sum of the Series is 28500

TRIT-8%

ICT =5 5 917 f&% 399 & @36 @i &g |
#include<stdio.h>
#include<conio.h>

main()

{

intc;

for (c=1;c<=5;c=c+1)

{

printf("\n ICT");

be
getch();

}

AT T
ICT
ICT
ICT
ICT
ICT

TAHIV-89
Postfix Increment Operator 377 @ Fews Fefy
#include<stdio.h>
#include<conio.h>
main()
{
int a=3,b;
b=a++;
printf("\n The result of Postfix Increment Operator %d",b);
getch();

}

YA T
The result of Postfix Increment Operator 3



TAATT-88
Prefix Increment Operator J337 3@ Fewe W6
#include<stdio.h>
#include<conio.h>
main()
{
int a=3,b;
b=++a3;
printf("\n The result of Prefix Increment Operator %d",b);
getch();

}
AT T

The result of Prefix Increment Operator 4
TART-8¢

Postfix Decrement Operator I3 303 T W
#include<stdio.h>

#include<conio.h>

main()

printf("\n The result of Postfix Decrement operator %d",b);
getch();

}

T FATA:
The result of Postfix Decrement Operator 3

RIN-8Y
#include<stdio.h>
#include<conio.h>
main()

printf("\n The result of prefix Decrement operator %d",b);

29



getch();
h

AT T
The result of Prefix Decrement Operator 2

TRT-89
21 4+22423,.....+ 2" Biftcem e fdT saw ww B o 99 i @Y |
#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d",&n);
s=0;
for (c=1;c<=n;c=c+1)
{
s=s+pow(2,c);
}
printf("\n The Sum of the Series is %d",s);
getch();

}

AT FEATF:
Enter the valueofn 5
The Sum of the Series is 62

HT-8v
204214224 23......+ 2N fiferem st fRefy v oy B T @3 T2l @1 |
#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d",&n);

30



s=0;

for (c=0;c<=n;c=c+1)

{

s=s+pow(2,c);

bs

printf("\n The Sum of the Series is %d",s);
getch();

}

AT T
Enter the valueofn 5
The Sum of the Series is 63

AHIN-85
1+3+9+27+...... + N Fifatem @rrest ey sa19 o f7 Sieiw @b el @2
#include<stdio.h>
#include<conio.h>
main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d",&n);
s=0;
for (c=1;c<=n;c=c*3)
{
s=s+cC;
bs
printf("\n The Sum of the Series is %d",s);
getch();

}

WW:
Enter the value of n 27
The Sum of the Series is 40
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1x2+2x3+3x4......+ Nx(N+1) Fifarem @ries ey e o 5 o o3

THRIN Y |

#include<stdio.h>
#include<conio.h>

main()

{

int ¢, n,s;

printf("\n Enter the value of N: ");
scanf("%d",&n);

s=0;

for (c=1;c<=n;c=c+1)

{

s=s+c*(c+1);

bs

printf("\n The Sum of the Series is %d",s);
getch();

}

AT T
Enter the valueofn 5
The Sum of the Series is 70
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